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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

%UÔX›◊Tˆ ( Economics ) 
ac˜ÁÃ^Eı YÁPˆy‘]-2 ( Subsidiary-2 ) 

Yá˚] Yy [ S-2 : International Trade & Development 
Economics (SEC-5) ] 

a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) ""^◊VC ◊Ã[˝EıÁ„QÔˆÁÃ[˝ Tˆ√º¯ A[˝e Âc˜jªJÙÁÃ[˝-C_›„XÃ[˝ Tˆ√º¯ 
%Á„Y◊l˘Eı\ˆÁ„[˝ a]ÁX ◊Eı‹ô«ˆ TˆÁ„VÃ[˝ ]„W˝Ó %„XEı 
YÁUÔEıÓC %Á‰ªK˜*'' V«◊ªRÙO Tˆ„√º¯Ã[˝ ]…_ È[˝◊`rÙÓm◊_ 
%Á„_ÁªJÙXÁ Eı„Ã[˝ TˆÁ„VÃ[˝ ]„W˝Ó T«ˆ_XÁ]…_Eı YÁUÔEıÓ ◊XSÔÃ^ 
EıÃ[˝”X*  

  V«c˜O-AÃ[˝ %◊W˝Eı V–„[˝ÓÃ[˝ Âl˘‰y T«ˆ_XÁ]…_Eı [˝ÓÃ^ 
YÁUÔ„EıÓÃ[˝ Tˆ√º¯ ◊Eı\ˆÁ„[˝ Y“„^ÁLÓ TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

   10 + 10 

 (F) ◊Eı\ˆÁ„[˝ AEı◊ªRÙO ÂV` TˆÁÃ[˝ [˝Á◊SLÓ ◊XÃ^‹óˆS Eı„Ã[˝ UÁ„Eı ? 

Ac˜O ◊XÃ^‹óˆ„SÃ[˝ Zı„_ %UÔX›◊Tˆ„Tˆ ◊Eı Y“\ˆÁ[˝ Y‰QÕˆ ? 

Ac˜O Y◊Ã[˝‰Y“◊l˘„Tˆ ∫RÙO_ÀYÁÃ[˝-aÓÁ]«„Ã^_aX Tˆ√º¯◊ªRÙO 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 6 + 10 

 (G) [˝Á◊SLÓ =• w¯ C Â_X„VX =• w¯ EıÁ„Eı [˝„_ ? TˆÁ„VÃ[˝ 

]„W˝Ó a+EÔı ◊Eı ? ÿëˆÃ^e◊y‘Ã^ Â_X„VX A[˝e 

a]XüÃ^EıÁÃ[˝› Â_X„V„XÃ[˝ TˆÁdY^Ô =VÁc˜Ã[˝Sac˜ ◊[˝‰`¿bS 

Eı„Ã[˝ TˆÁ„VÃ[˝ ]„W˝Ó YÁUÔEıÓ ◊XSÔÃ^ EıÃ[˝”X*  5 + 5 + 10 

 (H) Ã[˝ÁLÿëˆ X›◊Tˆ [˝_„Tˆ ◊Eı Â[˝ÁMıÁ„XÁ c˜Ã^ ? AEı◊ªRÙO ÂV„`Ã[˝ 

%UÔÍX◊TˆEı =~Ã^„X Ã[˝ÁLÿëˆ X›◊TˆÃ[˝ \…ˆ◊]EıÁ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* Ã[˝ÁLÿëˆ X›◊Tˆ Y“„Ã^ÁG Eı„Ã[˝ ◊Eı\ˆÁ„[˝ [˝Á◊SLÓ 

ªJÙ„y‘Ã[˝ =xÁX YTˆ„XÃ[˝ c˜ÁTˆ ÂU„Eı ÂV„`Ã[˝ %UÔX›◊Tˆ„Eı 

Ã[˝l˘Á EıÃ[˝Á ^ÁÃ^ TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 6 + 10 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) ª◊Ã[˝EıÁ„QÔˆÁÃ[˝ T«ˆ_XÁ]…_Eı [˝ÓÃ^ Tˆ„√º¯ =dYÁVX [˝ÓÃ^ ◊ÿöˆÃ[˝ 

[˝„_ ]„X EıÃ[˝Á c˜Ã^* ◊Eı‹ô«ˆ ^◊V =dYÁVX [˝ÓÃ^ 

y‘][˝W˝Ô]ÁX c˜Ã^ TˆÁc˜„_ [˝Á◊SLÓ ÂU„Eı _Á\ˆ ◊Eı\ˆÁ„[˝ 

=‡…ˆTˆ c˜„[˝ TˆÁ =dYÁVX aïˆÁ[˝XÁ ÂÃ[˝FÁÃ[˝ ]ÁW˝Ó„] [˝ÓÁFÓÁ 

EıÃ[˝”X*  

 V«c˜O-AÃ[˝ %◊W˝Eı ÂV„`Ã[˝ Âl˘‰y T«ˆ_XÁ]…_Eı [˝ÓÃ^ YÁUÔEıÓ 

Tˆ√º¯◊ªRÙO Y“„^ÁLÓ c˜„[˝ ◊EıXÁ [˝ÓÁFÓÁ EıÃ[˝”X* 6 + 6 
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(F) ""Â_X„VX \ˆÁÃ[˝aÁ]Ó a[˝ÔVÁ \ˆÁÃ[˝aÁ]Ó %[˝ÿöˆÁÃ^ UÁ„Eı*'' 

%ÁYXÁÃ[˝ ]TˆÁ]Tˆ LÁ◊X„Ã^ =◊N˛◊ªRÙOÃ[˝ a+„EÔı %Á„_ÁªJÙXÁ 

EıÃ[˝”X* ªJÙ_◊Tˆ FÁ„TˆÃ[˝ Â_X„VX A[˝e ]…_W˝X› FÁ„TˆÃ[˝ 

Â_X„V„XÃ[˝ ]„W˝Ó YÁUÔEıÓ %Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6 

(G) Y“TˆÓl˘ EıÃ[˝ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? Eı„Ã[˝Ã[˝ ◊\ˆ◊w¯ ÂEıÁXÀ 

ÂEıÁXÀ ◊[˝b„Ã^Ã[˝ =YÃ[˝ ◊XW˝ÔÁ◊Ã[˝Tˆ c˜Ã^ [˝ÓÁFÓÁ EıÃ[˝”X* 

aá˚„Ã^Ã[˝ =YÃ[˝ %ÁÃ^Eı„Ã[˝Ã[˝ Y“\ˆÁ[˝ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

  2 + 4 + 6 

(H) a«◊[˝W˝ÁÃ[˝ X›◊TˆÃ[˝ ]…_ [˝N˛[˝Ó ◊Eı ? a«◊[˝W˝ÁÃ[˝ X›◊Tˆ Y“„Ã^ÁG 

Eı„Ã[˝ [˝ÁC„Ã^X C ◊_≥Qˆ_ ◊Eı\ˆÁ„[˝ [˝∞RÙO„XÃ[˝ a]aÓÁÃ[˝ 

a]ÁW˝ÁX ◊V„Ã^‰ªK˜X TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8  

(I¯) %[˝]…_ÓÁÃ^X EıÁ„Eı [˝„_ ? %[˝]…_ÓÁÃ^X„Eı 

◊ÿöˆ◊TˆÿöˆÁYEıTˆÁÃ[˝ V ◊rÙ„EıÁS ÂU„Eı A[˝e Y◊Ã[˝„`Áb„SÃ[˝ 

V ◊rÙ„EıÁS ÂU„Eı %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 10 

(ªJÙ) %Á‹ôˆL¤Á◊TˆEı %UÔ \ˆÁâ¯Á„Ã[˝Ã[˝ ]…_ =„ï`Óm◊_ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* Ac˜O =„ï`Óm◊_ EıTˆªRÙOÁ aZı_ TˆÁ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* "Â&`Á_ QŒˆc˜Oe Ã[˝Ác˜OªRÙO'-AÃ[˝ Y“[˝Tˆ¤X ÿëˆ„îÁ~Tˆ 

ÂV`m◊_„Eı TˆÁ„VÃ[˝ Â_X„VX [˝ÓÁ„_„≥a HÁªRÙO◊Tˆ Â]ªRÙOÁ„Tˆ 

EıTˆªRÙOÁ aÁc˜Á^Ó Eı„Ã[˝‰ªK˜ TˆÁ [˝SÔXÁ EıÃ[˝”X* 2 + 6 + 4 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) %Á‹ôˆL¤Á◊TˆEı [˝Á◊S„LÓÃ[˝ ◊\ˆ◊w¯ ◊c˜„a„[˝ %ÓÁQˆÁ] ◊ÿˆÇ„UÃ[˝ 

ªJÙÃ[˝] [˝ÓÃ^ YÁUÔ„EıÓÃ[˝ X›◊Tˆ◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* Ac˜O Tˆ„√º¯Ã[˝ 

y”◊ªRÙOm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 2 

(F) %Á‹ôˆL¤Á◊TˆEı [˝Á◊SLÓ ÂU„Eı =‡…ˆTˆ _Á„\ˆÃ[˝ Y“E ı◊Tˆ 

◊[˝◊\ˆ~ Y◊Ã[˝◊ÿöˆ◊Tˆ„Tˆ ◊Eı Ã[˝Eı] c˜Ã^ TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

Ac˜O _Á„\ˆÃ[˝ [˝∞RÙOX ◊[˝◊\ˆ~ %e`G–c˜SEıÁÃ[˝› ÂV„`Ã[˝ ]„W˝Ó 

◊Eı\ˆÁ„[˝ H‰ªRÙO TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 3 + 3 

(G) aÁ]Á◊LEı V–„[˝ÓÃ[˝ È[˝◊`rÙÓm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

aÁ]Á◊LEı V–„[˝ÓÃ[˝ \ˆÁÃ[˝aÁ]Ó VÁ] ◊Eı\ˆÁ„[˝ ◊XW˝ÔÁ◊Ã[˝Tˆ c˜Ã^ 

TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 4 

(H) ◊Eı ◊Eı ◊[˝b„Ã^Ã[˝ ◊\ˆ◊w¯„Tˆ ÂEıÁ„XÁ [˝Ó◊N˛Ã[˝ EıÃ[˝„^ÁGÓ %ÁÃ^ 

◊c˜aÁ[˝ EıÃ[˝Á c˜Ã̂  ? EıÃ[˝\ˆÁÃ[˝ ◊Eı\ˆÁ„[˝ Y◊Ã[˝]ÁY EıÃ[˝Á  

^ÁÃ^ ? 3 + 3 

(I¯) aÃ[˝EıÁÃ[˝› [˝Ó„Ã^Ã[˝ =„ï`Óm◊_ ◊Eı ◊Eı ? aÃ[˝EıÁ◊Ã[˝ [˝Ó„Ã^Ã[˝ 

Âl˘‰y ◊Eı X›◊Tˆ %X«aÃ[˝S EıÃ[˝Á c˜Ã^ ? 3 + 3 

(ªJÙ) ÂEı≥V–›Ã^ aÃ[˝EıÁÃ[˝ %Áá˚◊_Eı aÃ[˝EıÁÃ[˝„Eı Â^ %X«VÁX ◊V„Ã^ 

UÁ„EıX TˆÁÃ[˝ =„ï`Óm◊_ ◊[˝ÿôˆÁ◊Ã[˝Tˆ\ˆÁ„[˝ =‰{F EıÃ[˝”X* 

`Tˆ¤c˜›X %X«VÁX C `Tˆ¤ÁW˝›X %X«VÁ„XÃ[˝ ]„W˝Ó YÁUÔEıÓ 

EıÃ[˝”X* 3 + 3  

(ªK˜) ◊[˝◊X]Ã^ c˜ÁÃ[˝ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? ÂEıÁXÀ ÂEıÁXÀ ◊[˝bÃ^ 

◊[˝◊X]Ã^ c˜ÁÃ[˝„Eı Y“\ˆÁ◊[˝Tˆ Eı„Ã[˝ ? 3 + 3 

(L) ^«N˛Ã[˝Ár—Ù›Ã^ Ã[˝ÁLÿëˆ [˝Ó[˝ÿöˆÁ EıÁ„Eı [˝„_ ? Ac˜O Ã[˝ÁLÿëˆ 

X›◊Tˆ ◊Eı W˝Ã[˝„XÃ[˝ a]aÓÁ a ◊rÙ Eı„Ã[˝ ? 3 + 3 
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English Version 

 

1. Answer any two questions : 20 × 2 = 40 

(a) "Though the Ricardian theory and the 

Heckscher-Ohlin theory are apparently 

similar there lies a number of 

dissimilarities also." Discuss the main 

features of the two theories and make a 

comparative difference between the two. 

 Explain how the theory of comparative cost 

difference is applicable in case of more than 

two goods. 10 + 10 

(b) How does a country control trade ? What is 

the effect of such a control on the   

economy ? In this context discuss the 

Stolper-Samuelson theorem. 4 + 6 + 10 

(c) What is Balance of Trade and Balance of 

Payments ? What is the relation between 

them ? Highlight the significance of 

Autonomous transaction and 

Accommodating transaction with examples 

and distinguish between the two. 5 + 5 +10  

(d) What do you understand by fiscal policy ? 

Discuss the role played by fiscal policy in 

economic development of a country. 

Discuss how by applying fiscal policy an 

economy can be saved from the fluctuations 

caused by the business cycle. 4 + 6 + 10 

2. Answer any three questions  : 12 × 3 = 36 

(a) In Ricardo's theory of comparative cost 

production cost is assumed to be fixed. But 

if there is an increasing cost explain how, 

with the help of the production possibility 

curve, the gains from trade arises.  

 Explain whether the theory of comparative 

cost is applicable in case of more than two 

countries. 6 + 6 

(b) "Balance of payments always balances 

itself." Discuss the above statement giving 

your views. Discuss about the difference 

between Balance of Current Account and 

Balance of Capital Account. 6 + 6 

(c) What do you mean by direct tax ? Explain 

the factors for levying of direct tax. Discuss 

the effects of income tax on savings.  

  2 + 4 + 6 
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(d) What are the features of Benefit theory ? 

Discuss how Bowen and Lindhal suggested 

the solution regarding distribution of taxes 

using this theory. 4 + 8  

(e) What is devaluation ? Discuss devaluation 

from the point of view of elasticity approach 

and absorption approach. 2 + 10  

(f) Discuss the main objectives of the IMF. 

Discuss how far the objectives were 

successful. Describe how far the 

introduction of 'Special Drawing Rights' 

have helped the less developed countries  

in compensating deficit in BOP. 2 + 6 + 4 

3. Answer any four questions  : 6 × 4 = 24 

(a) Explain Adam Smith's theory of Absolute 

cost difference as a basis of International 

trade. Discuss the shortcomings of this 

theory. 4 + 2  

(b) Discuss the nature of gains from trade in 

different situations arising from 

International trade. Discuss how the gains 

from trade are distributed among the 

different participating countries. 3 + 3  

(c) Discuss the features of public goods. How 

is the equilibrium price of public goods 

determined ? 2 + 4 

(d) What are the factors on which a person's 

taxable income is measured ? How is the 

burden of taxation measured ? 3 + 3  

(e) What are the purposes of public 

expenditure ? Which policy is followed in 

case of public expenditure ? 3 + 3 

(f) Discuss in detail the objectives of giving 

grants by the Central Government to the 

regional government. Distinguish between 

conditional grant and unconditional grant. 

  3 + 3  

(g) What is meant by exchange rate ? What are 

the factors that affect exchange rate ? 3 + 3  

(h) What do you understand by federal fiscal 
system ? What are the problems created by 
such a fiscal system ? 3 + 3 

    


